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int a=0, b=0;
char c;
cin >> a >> c >> b;
switch (c¢){
case '+':
cout << a+b;
case '-':
cout << a-b;
break;
case '*':
cout << a*b;
case '/':
cout << a/b;
break;
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void Hanoi (n disc, A, B, C
if(n == 1)

move disc from A to C
else {

Hanoi ( , , ,

peqg) {

move the disc n from A to C;
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for (int i=1; i < n+l; i=i*2)

printf (“&d\n”, 1);
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int a = 4;

if

3, b =5,
(a < b < )
printf ("%d K", c);
else

printf ("$d FNEREKA", c);
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int A[8] = {8,7,6,5,4,3,2,1};
int main () {

for (int i=0; i<4; i=i+1) {
J<7; 3=3+1) {
> A[J+1]) |
int temp = A[]J];
A[J] = A[J+1];

A[j+1] =

for (int j=0;

if (A[7]

temp;

}
for(int i=0; 1i<8; i=i+1)

printf ("%d ",A[1]);

6. MR E Y EFERBHELRTTI HTHEFIEFPER o ¢ rfid &
(1) s #\F L K(13) B * ~A(l) &) o

JER R R (4) > (3)>F A (2) >

THRMWD 22 LA NG 9 FA 3 ko 3 AR T BT 90 R

struct Poker/{

int number, suit;

}i
bool cmp (Poker a, Poker b) {

return a.suit != b.suit ? a.suit < b.suit a.number > b.number;

}

(A) 2 T~izw 354w 9~ FA53 479
(B) 27 ~lw 9w 3 FA 3759
(C) 19~ FA) 3~k 35w 9~ 24 T
(D) 19~ F3) 3~z 9~ T 3 244 7
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int s = 1;
void add (int a) {
int s = 3;
for( ; a>=0; a=a-1) {
printf ("sd ", s);
s++;
printf ("%d ", s);
}
}

int main () {
printf ("%d ",

add (s) ;
printf ("%d ",
s = 5;

printf ("%d4d",
return 0;

s);

s);
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11, R T2 a a5 2 7 R AB Y Ty B ERS AT (all pair shortest path problem) ?
(A) Bellme- Ford Algorithm

(B) Dijkstra Algorithm

(C) Floyed-Warshall Algorithm

(D) Prim Algorithm
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3 2 2 4 2
4 1 3 1 2 -1 0 1 A B C
0 5 0 1 1 -2 0 2 E F
5 1 2 1 3 -1 0 1 G H I
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